%+3%$x fﬂﬁﬁkﬁ%i%mﬁﬁ% L
A5 4 ) Ufcﬂ S CE T i B]
H R F 4 % e BA(F) 93.8.21 08:20-10:00 Brs

T 9 &0 % B sk > A AT D o sh AR B 4o o S S RE Al hY — @ﬁmmﬁﬁﬁﬁ'
L FRIZAAR T3 - P *"ﬂEd"‘n=a" B ar(l/n)=¥Ya |

. R A — B> S35 THE Ay e B #A—x e Av i f(X) =y, KRR E
J’tﬂ}]
(A) ¥g—By e BrAPHF—mwEx #4151 =y
B) 85—y e B 2 F—flx e A» 545 f(x) # v
(C) H—1My € B> #HF—1x € A {45 f(X) # y
D) -y e B #HAPE—mx 451X =y
(E) #—fy e AR—My € B> #6545 f(x) =y ”

2. JA={x | x"(1/2) eNE1<x<1076} B={x|x=20k>keN>1<x<10|
N0} Rl n(A—B) = _
(A) 960 (B) 900 (C) 890 (D) 840 (E) 800

3. FioE AC-1, 4)~B(2, 3) mEbaypayFHI N s
(A3x -y -2=0 B3Ix-y+2=0 ()3 x+y+2=07(
Dx -3y -2=0 (E)x - 3qy+2=0

4, maAHEXEEH  (ba+12)/ (2a-3) BEXSE gla
(A) 2 (B)3 ()5 (D) 8 (E) 21

0. M2/ TAbm /EEF > AN 100 gk A
(A1 B2 5 M6 (E)T -

6. —kKX ax"2+bx-4> U x+ 1B E8HAS nuhz FJ’T FERB A
(A) 12 (B) 14 (C) 16 (D) 18 (E) 20

(. By =-X"24+4x-50<x<3I2HEREAN BIM =
(A -1 B0 @2 D3 (E -2

8. zrlog8=a'log9=>b A TFoEEELTRTra+tsbyBk:
(A)log (8 /7 9) (B)log 8+ 9) (Olog (8 x 9) (D)log 8 ~ 9
(E)log 8 ~ (1 / 9) _

J. @40 tanB+sec0=2 > K sind =14 :
(A) =1 (B)3d/4 CC)2 (MS5/8 (£ 3 ' ' ¢

10, ¥XREF 10 Rp e ik Eip 2 ;ijﬁﬁ&mﬂn 9 ;&E&&?ﬁ-—*ﬂ%’“ﬂﬂ ' AS ) R 7 @ 4T
T 1 B A A RS0 R 10k 6y Ty b o SROLBEAS MUB S 2 BB A m R 0 A m =
(A) 10 (B) 18 (C) 20 (D) 22 (E) dx 3~ (17 2)

O GAAR S A ML) # — R



ﬁi“:i:’fﬁiﬂ E{Eﬁﬁi?- F7D

LT =2 F K s i WG F e IR
A A A %L t/ﬂa 43X B 47 By

_é%iiﬁﬂﬁﬁﬁ$+'f%?-'—%?‘€ | BE(F) | 93821 08:20-10:00

. AABC+ »BC=T>AC=5>AB =8> Bl AABC 2 $P3[E $/8 4 ¢
A axangl /B iz ntl/it) DI Exs Al 2
(D)T/B"‘(l/2) 8T8 LEiWa I &

12. #@mEa=(2, 1)'b=(3 4) st EE |ta+b|¢5ﬂi; B t =
LAY =8 A8+l b thhl )1

18, - FmEx +y + 2A(1/2) z=1%8x$h-yhh- zidmﬁ}! F=EE A
BrCoe Pl E L xz Flp2 /8K A4 :
I EL D R g1 4 tClh %18 [(Dixwi it} (E)'ﬂ:/S

4. mFdmxt+ty+tz - 1=08x+y+tz+t]=02mEHh:
AF L B SACE T SE A0/ ) ()2
(E)2/732(Q 7 2) -

lo. Qe 4288 x +y+2z=-2~ x+2y +3z=a- x+3

ytdz=pBRx+4y+5z=8"248@ H¥a- LEaEfz ¥ £(a -

Bz AL :
(A) (-5/4, -1/2) B (-1/4 -1/72 (@€ (574, 2
(D) 0, -1 /7 2) (E) (-1 7 4, 2

16. % -Fdo x - 2y+25+4—0ﬁilfﬁx"2+y“2+zf‘2+2x—
2v+ 4z + k=048 k14
(A) -2 (B) -1 (C) 4 (D) 5 (E) 12

17, FEAZR-Fd@m ER—45E @ Ciod BTy i adhe)—1ATEE A
(0°4) BHEP—£2A (40)° PIibE sty EFE L6 ?
(A)2 B2x22(17/72 (€6 M) 6x2r(/2)
(BB RNt f 0y |

m.aﬁﬁﬁﬁﬁﬁrﬁﬂ%%ﬁﬁ%x—y=0**M%&%%G,D’ﬂfﬁﬁﬁﬁJDﬂ

o] F 2] At vap 4b S B 2E
(A) T 84 457 3 4% B 48 - 47
(B) x + y =041 673 — 1&gk
OTayey ddbeHéry=1 L
D)Es(l, 3~/ 2) - AT &4 —18718 2%
(E)EECL, 6~ (1 /7 2) - 1DAT 8y—18 4 2

19, B [:C-UMAZHNBEER N PIE—TEy S TERYy = (X)) Mixe Ge%GCAHO
Bk UA2M@TE MIAAERGCHHBES Rl R A
(A) 10 (B) 79 (C) 70 (D) 43 (E) 34
o0, BUAR- 240 0 3245 3 R 0 RlRATH BB A Fudh) KR N 8 2 R 4
SORARF R A = 5 =2




= THRREEHE IR
At =5 AL B L I AN 48 A A SRR A

A% |@m gl EFRAte | ARal | L s
EERAFEE L & #HE(F) 93.8.21 08:20-10:00

(A) 8/ 729 (B) 64 / 1297 (C) 125 / 1728 (D) 380 / 2637
(E) 5/ 12




